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SUBJECT CODE / fawa =t : 20

Full Marks : 200 Time : 3 Hours

quife : 200 |qHT : 390
Instructions : (i) Candidates are required to answer all questions.
(i) Question No. 1 (One) is compulsory and is of objective type.
(1ii) Question No. I has 20 (twenty) questions carrying 2 (two) marks each.
(iv)  Question No. 2 to 6 are of descriptive nature & answers should not
exceed 500-600 words.
(v) Question No. 2 to 6 are of equal value carrying 32 (Thirty two) marks
each.
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1. Compulsory Questions GIREICRSEIE IH
Choose the correct answer in each of the following objective questions : (2x20=40)

Frafafaa aegis uE # ¥ 7S & WE SW F 9T W

I. A cyclist moves on a circular path of radius 10 meters. He completes 2 revolutions in
10 minutes. The average velocity of the cyclist is

A 10m

B 4m S e e
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(D) Zero - . Y avE od T aon
\\-—f// ' adial Hirne ‘o
CCSME23 (20)/40 PT.O.

N XANM

HAN0 “HO X

Ho x 0

Scanned with CamScanner

SR TN T Y AT




B

(R 2 —

Marks

-qa; -H—E-&ﬁq
me
€S

S TR QT AT 2| ATEfRd =ee R sitwa wfy e
(A) 10T
B) 4rm

) 2m

D) x>A

II. A physical quantity measured in CGS units has a value of 72 dyne cm™. The value of

the quantity in ST units is
16% am = ) P

(A) 720 Nm™ (B) 72 Nm™ L
[Ba72
(C) 0.72Nm™ (D) 0-072 Nm'' 2. 22 0-az

CGS A T HIO TR T Hifasw AR H A 72 dyne cm™ W1 T@T| SIHTEG

far 1w ©
(A) 720 Nm™ (B) 72Nm’
(C) 0-72Nm™ (@) 0-072 Nm™

and time 18 doubled, then the unit of work will be

IIL. If each of the units of mass, length

(A) four times (B) three times

(C) doubled (D) same
ﬁw,mﬁ@mﬁw@ﬁﬁmﬁ@mmﬁmm%,ﬁﬂﬁ
61 zrg el
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Universal gravitational constant (G) s an example of
{A) non dimenstonal constant (B)  numenc constant
(C)  dimensional constant (L aquanuty without dimensions
Y TTEIT N f‘s MR AL S O LA &
FrAWTTHE EATRYT [RAUOE (G) Ush Il v
(A) fasmfea Buow @ (B) AT e w6l
~ —~ . o » —pw g P boperr - .:- 3
() fasira fars @1 (D) @e afar Fasrbr wrd fasm a2 2
Genes located on Y-chromosome are called
(A) Recessive lethal genes (B)  Autosomal genes
(Cy Complementary genes (D) Holandne genes
Y-TTE T T A wEE f
(A) HFETAI STTE A (B)  STZrsmse A
(C) TF AF (D) wfafzs S
Mitochondna 1s the storchouse of
(A ATP(Adenosine tnphosphate)  (B)  glycogen
() sucrose (D) All of these
wrA st Ay srgaaitegan sl e 20
(A) ATP (rdenfaer zrswtins)  (B)  w@rgeRTi
(C) [T (1) 20t sl
Pancreas secretes hormones
(A) glucagon and nsulin () LH and progesterone
(C)  FSH and estrogen (17)  None of these
qrarg -4 st s (gt wfaa wan @9
(Ay el gepfer () LH Ve sl
(C)  FSH Ui 1ar (D) w0 wrd ad
PT.0.
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VIII. Steroid hormone is

(X) Thyroxine (B) Progesterone
(C) Epinephrine (D) Prostaglandin
wWAE g @

(A) AR (B) WISIETA
(© ufrfe (D) WECFAvEH

IX. Krishi Vigyan Kendra is situated at

(A) State level (B) District level
(C).~ Block level (D) Panchayat level
it e S R R O ST 27

(A) T &R @) T &1

(C) wEg &KX (D) 9=Ed TR

X. Which of the following is a rain wat

(A) Sprinkler

er harvesting structure?

(B) Tube-well

(») Dobha

(C) Drip

ﬁm&rﬁaﬁﬁﬁmm,aﬂfmﬁwwm%?

(A) B VACESIE!

© fm/o% © 3

XI. What is/ are the use(s) of Neem tree?

®) - /TR

(B) Medicinal

(A) Timber

(C) Fertilizer @ Allof these
m Y w1/% I T R/E?

(A) &S ®) i

(C) W D) = | |
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XIL. In which of the following types of soil, lime is generally added to enhance the agricultural
productivity?
(A)  Acidic soil (B)  Saline soil
(C)  Waterlogged soil (D)  Alkaline soil
ﬁwﬁm%ﬁqm%ﬁmﬁ%ﬁmmﬁﬁq@ﬁ%@mm
®?
(A) 3T g B) & firg

(C) STl Sma are fag D) &rE fird

XMI. The Air (Prevention and Control of Pollution) Act was passed by the Govt. of India in
(A) 1881 B 1981
(C) 1991 (D) 1988
T3 (I A R ) sifafem, wRa weR 2R B wia Rear
qn?
(A) 1881 (B) 1981
(C) 1991 D) 1988

XIV. Ozone hole is present
(A) above Antarctica
(B) above India
(C) above USA
(D) above USSR

i fiog el @ 27

(A) EThfes & IR

(B) WRd % FW

(C) o o To & FN

D) Fo THo THo ARo F FN
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XV, Deforestation leads to e
(A) soil erosion (B) global warming
(C) soil protection (D) Both (A) and (B)
i @1 FEE F RRU Tl €
(A) FaT &R (B) S TA FHEHIHT
(©) & wHE @) (A) R (B) T
XVI. Energy first enters in an ecosystem through
(A) autotrophs (B) herbivores
(C) camivores (D) parasites
e TRfRfae 9 # Sl 1 AN BiAl ©
(A) T | B) wTHEER &
(C) waeR ¥ (D) YRSl ¥
XVII. Tuberculosis is caused by
(A) Salmonella (B) Diplococcus
(C) Mpycobacterium (D) Streptomycin
FEHEE el
(A) Salmonella | B) Diplococcus q
(C) Mycobacterium | (D) Streptomycin &
XVIII. Recently ISRO has launched which moon mission?
(A) Chandrayaan-2 (B) Chandrayaan-3
(@) Chandrayaan-4 (D) None of these
T A ISRO & w1 == wéfa fomar 22
(A) =A-2 (B) ==dT-3
(©) =aT-4 (D) T & HE T
Contd.
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3DR satellite was launched for
(A) weather forecasting

(C) disaster warning (D)  earthquake forecasting
|

INSAT-3DR SWie &1 wemw forg Seww & fran mr 29
(A) weR qEiE (B) aul SfTher

(©) ¥ =at D) Y& @A

ST |

XIX. INSAT-

(B) rainfall estimation

XX. AIDS is caused by
(A) RNA virus
(C) Plasmodium
AIDS TFash grr g &2

(B) DNA virus
(D) Mosquito

(A) 3Ro THo Up aTed B) Tlo To Uo AT

(C) wmEHIfeay D) A=K

What are infrasonic and ultrasonic sounds? Name the sources of infrasonic sound in nature.
Describe the characteristics and applications of ultrasonic sound.

AUIT A WA @A W R? Whid H oAwyE = % Al AW o
T il oAt @ swEmt @ @ W)

32

OR / 31¥an

Under what conditions does a system (a particle) possess potential energy? Explain. How is the
potential energy of the particle calculated at a given configuration?

et e (@) # fm adl w fRufes oot St 22 avemd) s fiu o fmm
#own & fRafaw o=t f onoen R H S R

What do you mean by pollution? Give a detailed account of air pollution.

32
TEE ¥ W T §Eed €7 4 wgww & faww # famge @men Wy
OR / 31

~What is sex determination? Describe the process of sex determination in animals.

fomr frafor fd wea €2 wgeit # fom fako 6 wfien = ol =Y
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4. .~What do you mean by crop diversification? Explain its importance for crop production and
productivity. 32
hH ‘alaiaaﬁ(”"amwﬂﬂﬁ%?wmﬁm%ﬁﬁﬁm i
e 6 T i

OR / J¥aT

What do you mean by Agroforestry? Describe the importance of Agroforestry and its

management.

gﬁmﬁﬁﬁmwm%?ﬁmﬁﬁ%mﬁwmmmﬁﬁi

5. _~Whatis global energy crisis? Give a detailed account of alternative sources of energy. 32

éﬁwmmw%?m_éﬁwmﬁmﬁﬁamél

OR / 9T

What do you mean by ecological pyramids? Explain their types.

vr&@:%mﬁwﬁaémww%%?mmzﬁmﬁmi

plications of different types of satellites used for different

6.  What are satellites? Describe the ap
purposes. 32
Sue T 87 ﬁa—ﬁrﬂa&aﬁ%ﬁqm—@%ﬁﬁm%mwmﬁaﬁl
OR / qaT
What is meant by conventional and non-conventional sources of energy? Describe them with )
their relative merits and demerits. }
m@ﬁ—mm-ﬁﬁmwmé?ﬁﬁww—aﬁ
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